Watch the following video until 5 mins: Derivatives of Logarithmic and Exponential Functions

Recap:
$$y = f(x)$$

$$y' = \frac{1}{x}$$

$$y = \frac{1}{x}$$

$$y = \frac{1}{x}$$

$$y' = \frac{1}{\ln(a)} \cdot (\frac{1}{\ln(x)})' = \frac{1}{\ln(a)} \cdot \frac{1}{x}$$

$$y' = e^{x}$$

$$y' = e^{x}$$

$$y' = a^{x} \ln(a)$$

Example 1: Find y' of

(a)
$$y = 3^{\times}$$

Rule: $y' = a^{\times} \ln(a)$
 $y' = 3^{\times} \ln(3)$

(b) $y = \frac{7^{\times}}{7^{\times} + 1}$
 $u = 7^{\times}$
 $u' = 7^{\times} \ln(7)$
 $u' = 7^{\times} \ln(7) + 0$

(a) Outlient Rule: $y' = u'v - uv'$
 $y' = \frac{7^{\times} \ln(7)[7^{\times} + 1] - 7^{\times}[7^{\times} \ln(7)]}{(7^{\times} + 1)^{2}}$
 $u' = \frac{7^{\times} \ln(7)[7^{\times} + 1] - 7^{\times}[7^{\times} \ln(7)]}{(7^{\times} + 1)^{2}}$
 $u' = \frac{7^{\times} \ln(7)[7^{\times} + 1] - 7^{\times}[7^{\times} \ln(7)]}{(7^{\times} + 1)^{2}}$
 $u' = \frac{7^{\times} \ln(7)[7^{\times} + 1]}{(7^{\times} + 1)^{2}}$

$$(7^{x}+1)^{2} \qquad (7^{x}+1)^{2}$$

Example 2: find y'.

O $y = \ln(x^5 + 2)^{2\pi}$

$$0 = \ln(x^5+2)^2$$

Rule:
$$y = \ln(x^m) = m \ln(x)$$

Rewrite
$$y=2\pi \ln(x^5+2)$$

$$y' = 2\pi \cdot \frac{1}{x^{5}+2} (x^{5}+2)'$$

$$y = \frac{2\pi (5x^4)}{x^6 + 2}$$

(2)
$$y = \ln^{2}(\ln(2x)) \neq \ln^{2}(2x)$$

②
$$y = \ln^{2}(\ln(2x)) \neq \ln^{2}(2x)$$

$$y' = \frac{1}{\ln(2x)} \cdot (\ln(2x))'$$

$$=\frac{1}{\ln(2x)}\cdot\frac{1}{2x}\cdot(2x)'$$

$$= \frac{1}{\ln(2x)} \cdot \frac{1}{2x} \cdot 2 = \frac{1}{\times \ln(2x)}$$

Rule
$$y = \ln\left(\frac{x}{y}\right) = \ln(x) - \ln(y)$$

Rewrite
$$y = \ln (2x-1) - \ln(2x+1)$$

$$= \frac{1}{2x-1} (2x-1)' - \frac{1}{2x+1} (2x+1)'$$

$$= \frac{2}{2x+1} - \frac{2}{2x+1}$$

Example 3: Find y for
$$y = (x^3 - 1)^4 \sqrt{3x - 1}$$

Take In of both sides.

$$|n(y)| = |n\left(\frac{(y^3-1)^4(3x-1)^{\frac{1}{2}}}{x^2+4}\right)$$

$$= |n\left((x^3-1)^4(3x-1)^{\frac{1}{2}}\right) - |n(x^2+4)$$

$$= |n\left((x^3-1)^4\right) + |n\left((3x-1)^{\frac{1}{2}}\right) - |n\left(x^2+4\right)$$

$$= |n\left((x^3-1)^4\right) + |n\left((3x-1)^{\frac{1}{2}}\right) - |n\left(x^2+4\right)$$

$$= |n(y)| = |-\frac{1}{2}|n(3x-1) - |n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |-\frac{1}{2}|n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |-\frac{1}{2}|n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |-\frac{1}{2}|n(x^2+4)|$$

$$= |-\frac{1}{2}|n(x^3-1) + |-\frac{1}{2}|n(3x-1) - |-\frac{1}{$$